
Prüfungsaufgaben Aufgabe 9 
 

 
 
3.0, 3.1, 3.2 

 



 
 

3.3 

 
Im Dreieck MPS gilt: 

 
                MP       

tan 15° = ---- | * MP 
                MS       

 
MP = MS * tan 15° = 8 cm * tan 15° = 2,14 cm 

 
Im Dreieck MPQ gilt: 

 
MQ = MS - QS = 8 - QS  cm 

 

             MP     2,14 cm 
tan φ = ---- = ---------- | * (8 - QS) 

             MQ     8 - QS 
 

(8 - QS) * tan φ = 2,14 | :tan φ 
 

               2,14   
8 - QS = ------ | +QS 



              tan φ 
 

       2,14                 2,14  
8 = ------- + QS | - -------- 

       tan φ                tan φ 
 

                     2,14     

QS(φ) = 8 - -------- cm 

                    tan φ     

 

3.4 

 

Strahlensatz: 
 

AC = BD 

 
GH      BD    

---- = ----- | * QS 
QS      MS 

 
                                  2,14    

                           (8 - -------) * 12     
         QS * BD            tan φ    

GH = ---------- = ------------------- cm   
             MS                    8   

 
                     3,21   

GH(φ) = 12 - -------- cm 

                    tan φ              

 

3.5 

 

Strahlensatz: 
 

MC = AC/2 = 12 cm/2 = 6 cm 
 

CP = MC - MP = 6 cm - 2,14 cm = 3,86 cm 
 

EF     CP 
--- = ---- | *BD 

BD    CM  
 

         BD * CP      12 cm * 3,86 cm  
EF = ----------- = ------------------- = 7,72 cm 

            CM                    6 cm   

Für das Rechteck EFG0H0 gilt: 
 



G0H0 = EF 
 

         3,21   
12 - ------- = 7,72 | -12 

        tan φ 
 

     3,21   
 - ------- = - 4,28 | * tan φ 

    tan φ 
 

- 3,21 = - 4,28 * tan φ | :(-4,28) 
 

tan φ = 0,75 --> φ = 36,87° (oder 180° + 36,87° = 216,87°) 
 

3.6 

 
             0,5 * AD * BC * MS      0,5 * 12 * 12 * 8   

VABCDS = ----------------------- = --------------------- cm³ = 192 cm³ 
                           3                               3  

 
25% davon = 192 * cm³ * 0,25 = 48 cm³ 

 
                                     2,14         2,14   

MQ = MS - QS = 8 - (8 - -------) = -------- cm 
                                     tan φ       tan φ   

   
             EF + BC                   

            ----------- * MP * MQ                                     
                   2                           

VBEFDQ = ----------------------- = ----------------------------- 

                        3                                6 * tan φ 
 

        (7,72 + 12) * 2,14 * 2,14      15,05  
48 = ------------------------------ = -------- | * tan φ 

                    6 * tan φ                   tan φ   
 

48 * tan φ = 15,05 | :48 
 

tan φ = 0,3135 --> φ = 17,41° (oder 180° + 17,41° = 197,41°) 
 


